EP00529/ |

01/03/2021 | 28/03/2025 | 28/03/2025

SEAT FRAME GEMINI 2020 40

~
[@))
Al
LO
()
)
an
LL]




Bill of Material Bill of Material Bill of Material
No. Plan Article Quantity No. Plan Article Quantity No. Plan Article Quantity
1 YP00511 1815354 2 33 XP02997 2996618 2 64 XP00099 2990067 2
2 YP04259 2853154 2 34 XP03079 2996655 1 65 2994901 2
3 YP04295 2853054 2 35 X000106 G003218 6 66 1907582 2
4 YP04319 2852454 2 36 X000586 1005742 2 67 1003299 2
5 - 37 X002137 1992415 2 68* ues E000299 1
| 6 YP04502 2867854 1 38 Rivet D4x14 1001584 10 69 1991107 1
7 YP04554 2883754 1 39 Screw 4.8X16 2994905 4
8 YP04555 2883854 1 40 M4x6 ISO 7380 2994903 4
9 YP04561 2883254 1 41 M5x20 DIN 603 2991056 8
10 YP04574 2867954 1 42 M5x25 DIN 912 2994906 4
11 YP04575 2868054 1 43 -
12 YP04577 2868354 1 44 M6x16 ISO 7380 2994067 4
13 YP04578 2868454 1 45 M6x20 ISO 7380 2994910 4
14 YP04579 2868554 1 46 M6x30 DIN 7984 1915416 2
15 YP04583 2868754 1 47 M6x35 ISO 7380 2994131 6
16 YP04584 2868854 1 48 M6x40 I1ISO 7380 2994066 3
17 YP04585 2869154 1 49 M6x50 ISO 7380 2994965 1
18 YP04586 2869254 1 50 M6x55 I1ISO 7380 2994376 4
19 YP04617 2883654 1 51 Knob M5 2991057 8
20 YP04618 2703254 2 52 M5 DIN 985 2994006 4
21 YP08484 2617554 2 53 M6 Handle 1996843 2
22 YP08564 2620754 1 54 M6 DIN 125 2994414 8
23 YP08639 2624254 1 55 M6 DIN 125 PVC 2994415 6
24 YP08640 2624354 1 56 M6 DIN 315 2994909 2
25 XP00140 2990097 4 57 M6 DIN 985 2994063 13
26 XP00200 2990129 4 58 M6 DIN 986 2994059 11
27 XP00223 2990144 4 59 Cap D16 1001598 2
28 XP00227 2990147 4 60 --- 2990099 2
29 - 61 Blocker Pin 2990150 1
30 XP01099 2866000 1 62 -
31 XP01119 2883900 2 63 Rotary Latch EP00517 2 Page 2/2
32 -
Plan No.
SEAT FRAME GEMINI 2020 40
EP00529/ |
Scale: 16 Drafted Verified Confirmed \\\V/’/’
EP00529 /] bac | 01/03/2021 | 28/03/2025 | 28/03/2025
Initials oY PM AZ 000




